EARAROBREBRT —5 XN—ZXBISH—F 202278108 (B) 208548

¥ t58 G3 U5%3mE ER 5 \VF EREIEEESE
[AE%)] 1 & : 43,000,000 @ . 2 3#&:17,000,000 § . 3 7% :11,000,000 9 4 3#& :6,500,000 F , 5 7%& :4,300,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
s 5 | EAPRE 1:57.8 6-6-5-3 | 34.4[111.8| 6 | 464 |HHT &R
1/8/16| TEH 54.0 b o | e
RiW—5—IvF B:e—3 B4
< 5 | iEsR— 1:58.2 10-11-10-8 | 34.3 | 107.6 | 1 476 | REER (FH)
E—bZFVE—-K # 57.0 2172 “2) (,%) #HBEV—ZR—2X
RIFVITAXNXN B:RIEU—F #HBIT7—LA
)= L3, N0 HEH : -9-8- B GEH
FUF49RA |~ [B] 45 T 1.(518).3 11-9-8-5 | 34.5|106.6 | 2 (438 f(ﬁ;'<6(1 u)—yyd‘
Ri—5—yvF B:PUF15R BHT7— L
J 7 — P — b 5 | MEES 1:58.6 4-4-4-3 | 35.4|103.6 | 13 484 | RLHSE (EH)
I'j} P # 5%0 (1 3/4) *2) zzﬁ) dAREYa2—T7—LA
R:7AIVNI 7Y — BEIVANY—F JREFa1—T7—LA
=R v 6| M FL—0O 1:58.8 6-6-7-8 | 35.2]101.5| 3 472 | INFNIgE EH)
EaZR—)L 70 s’ (3/4) we) | B UYIIR
RiAWTz—II B:F7ITI D ERRIS
o~ s=~, B o6 | ENEEFE 1:58.8 11-12-13-11| 34.7 [ 101.4 | 11 | 470 |EM@EE— &R
6l8l15| V7o k= 56.0 op) (- |IEEEMH
Ri—5—yvF B:F7VIT4)—Va i BT
QT TN t+ 5 | PlEEX 1:58.9 15-15-15-15| 34.6 | 100.3 | 4 492 | FllEZ (RR)
7 08 12| EXFAHLKRY * 55.0 ) ) | @0 FvEIL - v2FL
R:ISYTURR B:ERXTULAFAT e
—, =~ JIHERS : -5-5- HER EH)
8l5l10| PR=VFVIFL it 4 A 1.(519).0 5-5-5-5 | 35.6| 99.5 | 5 (4_842) ;E#g
R:O—IVFUY B:VvIZUT7R—L ERRERUS
y o5 | NEEE 1:59.1 16-16-15-15| 34.8 | 98.3 | 8 76 | RMEBEAN ER)
97|13 FUNYTrRY 53.0 ) (6 | MEEIAE]
RIN=YITSA B:HYYITroby (\) #B81—-RU—yavEEI7
> Y 6 | GiEfE 1:59.1 3-3-2-2 [36.2| 989 | 7 506 517 (8)
10fl 8| 7#IIXY 70 8% &6 o | (@) HEL—REK—2
RiJ4 I RDT—ILEY B:AY—FalbAbFry b BT 7—L4A
1ls!9 a9 FIUNILTE 4 o6 SJ%EFJE 1:(519).3 8-8-8-10 |35.5| 9.4 | 9 (ﬁz) %\;g% (F=H)
RiFVIRARZAN 8N TqF AAHHIS
£y — 8 6 | XAEFN 1:59.4 1-1-1-1 [36.9] 9.5 | 12 | 500 | LREZ ()
121112 | O L= [B] 53.0° (3/4) (17) | FlEF
R:O=RFVIFFL B:TU—rFY BRI
- . EmEE : -12-13- BHEC 58
111 y=oLy RSy B o6 e 1(.35/%5 13-12-13-14| 35.4 | 94.2 | 14 (31421) i
RiFVh—0 B:H—IWIT79—L /=3I r—1A
> ST 4 9 | KEFEEL 1:59.6 8-9-10-11 | 35.7 | 93.5 | 16 450 |MIRE (BR)
148 5 | ®@¥ DY hO—)L R 57.0 (/2 o |EEESE %
R:IAFAIT—LR 8:¥9YhITS #HBIT7— LA
W Ry 3 4 | =THER 1:59.7 14-14-10-11{ 35.8 | 92.5 | 10 500 | RIERK (5RR)
1508 7 | Ly BRIV R [B] * 5.5 ) +2) W) mph—2L—y>7
R:F4—FA4VNT~ B:UaXFF /=Y IT7—L
s == o6 | REMT 2:01.1 2-2-2-5 [38.3] 82.3 | 15 | 462 |/AVEUME ()
16/ 714l F—ZRYT=Z 57.5 ) ) |HEEE
RiFVIARZ S B TUEIRT—IL JlIN=e
[ BN
En'w 47.2-35.3
Nav9A L | 12.3-11.0-11.1-12.0-12.1-12.1-11.9-11.9-11.6-11.8
@ 11— —B&IEfI
13—7F— 2,14,8,4,10(3,16) (5,9)6(15,11)1,7,12-13
20— — 2,14-8-4,10(3,16)9(5,11)6(1,15)7,12,13
30—7— 2(14,8)-4(10,16)3(9,11) (5,6,7) (1,15) (12,13)
43—F— 2,8(4,16) (14,10,11) (3,6)9(5,15,7)1(12,13)
o ILRE
BB 16 1,620 JA R 6-16 1,210 % 3E 3-8 1,560 3EE 6-11-16 5,720
B B 16 340M 11-16 1,340 5 E 6-16 3,260 3EH 16-6-11 39,600M
6 150/ 6-11 400/ 58 16-6 8,320
1 170/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



